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QUESTION 1

You are designing a wireless network that requires smooth roaming performance and redundant coverage from at least
two access points at every location. 

What ensures that both of these functional requirements are satisfied? 

A. co-channel interference 

B. secondary coverage 

C. primary coverage 

D. data rate 

Correct Answer: D 

 

QUESTION 2

You are troubleshooting a signal strength issue when you notice that the signal strength changes from -70 to -73 dBm
as you move from one room to another. 

In this scenario, what is happening? 

A. Signal strength has increased by 10x. 

B. Signal strength has decreased by 10x. 

C. Signal strength has doubled. 

D. Signal strength has halved. 

Correct Answer: B 

 

QUESTION 3

You have discovered an access point that is not connected to the corporate network but it broadcasts the corporation\\'s
SSID. 

In this scenario, what is this type of access point called? 

A. honeypot 

B. neighbor 

C. rogue 

D. air gap 

Correct Answer: B 
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QUESTION 4

Marvis requires which subscription? 

A. Wired Assurance 

B. Asset Visibility 

C. Virtual Network Assistant 

D. Premium Analytics 

Correct Answer: C 

 

QUESTION 5

A microwave oven would be classified as which type of interference? 

A. Wi-Fi 

B. rogue 

C. security 

D. non Wi-Fi 

Correct Answer: A 
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